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z = 6 2x+ y = 8

x+ y = 5

x− y = −2
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� �#������� �� �������� �������� $���%�&������' �� ����#������� ��� ��$��� �� ��(��� ��

z) �*������� ��� ������� �� (3, 2) �� � ��� (����� #$��� + ��,)

-� �� ���$����� ���#���� ���� .���� -�����&�� �*#-��� �� �� .�/�� ���(����  

��� z = −3x − 2y
�)-) −x + y ≤ 2

2x + y ≤ 8
x + y ≤ 5

x ≥ 0
y ≥ 0

0��������� ���� .���� ��������  

��� z = −3x − 2y
�)-) −x + y + a = 2

2x + y + b = 8
x + y + c = 5
x , y , a , b , c ≥ 0
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�� 
� ��������� ��� (�������� �*#-��� x3 �� x4 

��� z = x1 + x2
s.c. 2x1 + x2 + x3 = 8

x1 + 2x2 + x4 = 4
x1 , x2 , x3 , x4 ≥ 0
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0 1

1 x1

x2

2x1+x2=8
x1+2x2=4

-� 1��� (x1, x4)

A =

(
2 1 1 0
1 2 0 1

)
, b =

(
8
4

)
, B =

(
2 0
1 1

)
, B−1 =

(
1/2 0
−1/2 1

)
,

(
x1
x4

)
= B−1b =

(
4
0

)

2���-���� -������������ + x2 

dB = −B−1A2 =

( −1/2
−3/2

)
⇒ d =

⎛
⎜⎜⎝

−1/2
1
0

−3/2

⎞
⎟⎟⎠ ⇒ −x1

d1
= 8

−x4
d4

= 0

}
⇒ θ∗ = 0

2���-���� -������������ + x3 

dB = −B−1A3 =

( −1/2
1/2

)
⇒ d =

⎛
⎜⎜⎝

−1/2
0
1
1/2

⎞
⎟⎟⎠ ⇒ −x1

d1
= 8

d4 ≥ 0

}
⇒ θ∗ = 8

�� 1��� (x2, x3)

A =

(
2 1 1 0
1 2 0 1

)
, b =

(
8
4

)
, B =

(
1 1
2 0

)
, B−1 =

(
0 1/2
1 −1/2

)
,

(
x2
x3

)
= B−1b =

(
2
6

)
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2���-���� -������������ + x1 

dB = −B−1A1 =

( −1/2
−3/2

)
⇒ d =

⎛
⎜⎜⎝

1
−1/2
−3/2
0

⎞
⎟⎟⎠ ⇒ −x2

d2
= 4

−x3
d3

= 4

}
⇒ θ∗ = 4

2���-���� -������������ + x4 

dB = −B−1A4 =

( −1/2
1/2

)
⇒ d =

⎛
⎜⎜⎝

0
−1/2
1/2
1

⎞
⎟⎟⎠ ⇒ −x2

d2
= 4

d3 ≥ 0

}
⇒ θ∗ = 4
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1 x1

x2

2x1+x2=8
x1+2x2=4

direction correspondant à x2: on reste
au même point mais on change de base

direction correspondant à x3
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0 1

1 x1

x2

2x1+x2=8
x1+2x2=4

direction
correspondant
à x4

direction correspondant à x1
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�� �� �����-� �� �3��4�� ��� (
1 2 3 4 1
2 4 6 8 0

)

�� ����� ���� �� -���� �����-� ��� .���#� �*��� ��� &����� �����4��� -������� �� �� ��

-��&��4��) ��� &����� ����� �� ��� ��������� �� ����� ����-�#�� ���� ���-

�) B1 =

(
1 1
2 0

)
( x1 x2 x3 x4 x5 )T = ( 2 0 0 0 −1 )T

�) B2 =

(
2 1
4 0

)
( x1 x2 x3 x4 x5 )T = ( 0 1 0 0 −1 )T

,) B3 =

(
3 1
6 0

)
( x1 x2 x3 x4 x5 )T = ( 0 0 2/3 0 −1 )T

5) B4 =

(
4 1
8 0

)
( x1 x2 x3 x4 x5 )T = ( 0 0 0 1/2 −1 )T

	����� -�� ��������� �� ���� ���� ����������� ���� �� �3��4��)

�� ���� ��� �����-� 2× 5' �� ������ ��!���� �� ����� ���
(5
2

)
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